
 

gf;fk; 1 

 

 
 
kpUjq;fk; 
juk;: 3 

 
mwpKiwj;Nju;T       75 epkplq;fs; 

 
 

gFjp 1 
 
rupahd tpilapd; fPo; NfhbLf.   (10x4 = 40 Gs;spfs;) 

 
1) kpUjq;fj;jpy; KjyhtJ ghlk; vJ? 

 
1). jhjpnjhk;ek;  2). jfpl   
3). jupfpl    4). fpljf 

 
2) Mjp jhsj;jpy; vj;jid khj;jpiufs; ,Uf;fpd;wJ. 

1). 24      2). 14   
3). 10      4). 32  

 
3) 14 ml;ruq;fs; nfhz;l jhsk; 

1). kl;ba jhsk;  2). Vf jhsk; 
3). ml jhsk;  4). &gf jhsk; 
 

4) xU rq;fPu;z yFtpd; msT 

1). 11 khj;jpiu   2). 9 khj;jpiu   
3). 72 khj;jpiu   4). 3 khj;jpiu 

 
 

5) %d;W mq;fq;fSk; Nru;e;JtUk; jhsk; 



 

gf;fk; 2 

 

1). Mjp      2). [k;ig      
3). &gfk;    4). ml 

    
 
 
 
 
 
 
 

6) jhsk; vd;gJ 

1). tpuy; vz;ZtJ   2). jl;L kl;Lk; 
3). fhyj;ij msf;Fk; fUtp  4). mDjpUjk; 

 
 

7) 'U" vd;w mq;fk; ,lk; ngWk; jhsk; 

1). kl;ba jhsk;     2). jpupGil jhsk; 
3). &gf jhsk;      4). [k;ig jhsk; 

 
 

8) 7 jhsq;fspy; mjpFiwe;j mq;fk; cs;s jhsk; vJ? 

1). JUt jhsk;    2). Vf jhsk; 
     3). kl;ba jhsk;    4). &gf jhsk; 

 
 

9) kl;ba jhsj;jpy; vj;jid «yF» fs; cs;sd? 

1). 5    2). 6 
3). 2    4). 3 

 
 

10) xU jdpahtu;j;jdj;jpy; vj;jid KbT jjpq;fpdnjhk; cs;sd? 

1). xd;W     2). ,uz;L 
3). %d;W     4). gy 

 

 



 

gf;fk; 3 

 

 
 
 
 
 
 
gFjp 2 
 

 
VjhtJ ehd;F tpdhf;fSf;F tpil jUf. (4x15 = 60 Gs;spfs;) 

 
1. RUjpiag; gw;wp rpW tpsf;fk; jUf.   

 
 

2. rg;j jhsq;fspy; vj;jid mq;fq;fs; cz;L? 
 

 
3. 35 jhsj;jpy;> vit 9 ml;ruq;fs; nfhz;lit? 

 
 

4. Mjp jhsj;jpd; Nkhuhit vOJf. 
 
 

5. Mtu;j;jdk;> jdp Mtu;j;jdk; vd;why; vd;d?  
 
 

6. 7 jhs ml;ltizia tiuf. 


